AP Sub Inspectors of Police Preliminary Examination-2022 Question Paper (Paper-2)

Booklet Code | B

Held on: 19-02-2023
Time : 3 Hours Marks : 100

Instructions :

(i) Omne mark will be awarded for every correct answer. There are no negative marks.
08 D8 2wy Wl $rdy Sirowoldo 2Bi&s. S&Sed Gerd)E Srdy e TP

(i) Choose the correct or most appropriate answer from the glven options to the following
questions and darken, with Blue/Black Ball Point Pen the corresponding digit (1), (2)5(3)
or (4) in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately provided to you.

BIHS NS P8 PHH [IES TEHST BORS SIrEIsnd ILNFR TAD 500D

@08 (1), (2), (3) Bz (4) I NS OMR DIreS JEBB50S* (PHB, 00200800
Somgiie HEQ) dvo o Send) S a0 280 GIRTAON QRSB

1. Assertion (A): Sorting out of the individuals with useful variations from a heterogenous
populations by nature is called Natural Selection.

Reason (R): Useful variations appear in every.generation and are inherited from one
generation to other. These variations aceumulate by number of generations.
Thus, the variations are so prominent that individual change into a new
species.

(1) Both (A) and (R) are correct; (R) is.correct explanation for (A). *
(2) Both (A) and (R) are correct; (R) is not.correct explanation for (A).
(3) (A)is correct and (R) 1s'not correct.

(4) (A) is not correct and (R) is correct.

APSE0 (A): DS e Ko aTere Hod odire 3ITgwn o BH 0D
@E)SHT00 . o,

580 (R): B0Ere FIFTFD PESE0S® EAnoN. 8 28 S8o o RoFE 078
HOEDoT00. WIE ST O & DB 2EKL0 Sl & IVFrgen Jodso
VHE 0. & DD PIVPF, &8 gen 2.8 58 8 Sraroloston.

(1) (A) 506650 (R)Botir $06%05; (R) ©38 (A) & $0G0S 258,

(2)" (A) 52805 (R)Bodr $605; (R) 638 (A) K 550 dS5de 560,

(3) (A) 0088 Hodosn (R) H6G088 57¢%.

(4) (A) 585088 57 50805 (R) HOGSE.
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2. Assertion (A): - The amount of DNA present in somatic cell depends on the phase of the
cell cycle.

Reason (R): Telophase and G, phase nuclei contain only half (as 2¢) the amount of
DNA found in the prophase; G, phase and metaphase cells represent 4c:

(1) Both (A) and (R) are correct; (R) is correct explanation for (A).

(2) Both (A) and (R) are correct; (R) is not correct explanation for A). -
(3) (A) is correct and (R) 1s not correct. |
(4) (A) is not correct and (R) 1s correct.

SIS0 (A):  THOH Eeadnd’ DNA Ingo Eeo BESNS'Q DG Lo sTEds

G ot00H. '

5800 (R): ©08g6¥ $0005 G| $FS506d Bo|EBS™ B $535°0 DNA Soogboes”
J5500 (as 2¢) totnod. Gy §F S08esw &ég‘gcﬁ%é‘ ©8 4cm ¢otnod.

(1) (A) 58050 (R)Bodr $05052; (R) ©38 (A)sd SBLOS Dide.

(2) (A) 50050 (R)Bodkr $0305D; (R) @38 (A) § B0 D58e0 57¢.

(3) (A) 285058 H8osn (R) H8DoI8S2¢0.

(4) (A)38S0I8 576 $oBos» (R)B8GI8.

3. Identify the exploitation efficiency ivan ecosystem among the following.

Production Production
(L=t 0 1 — e
Assimilation Ingestion
3) Consumer productivity @) Ingestion of food
Prey production Prey production

8od TS BB SIS’ IR FSaggoso Hgordn.

éyeé;@ ﬁé,)@;
(1) (2)
HEGe S' Trgor AETHL0
3) DIRBFRTE G \EES @ w580 S oo éfé":oos‘;’)e'.jo

AEEIO WS Q6L S8
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4. What is the origin of replication? _
(1) The specific DNA sequence which is responsible for initiating replication
(2) Identification and eliminating the non transformants
(3) Unfolding of a protein
(4) Single strand of nucleotides that extends from an end of a fragment of DNA
@85 BITHS PT@ O
(1) ©88)8 FEoDod IIJIS SodES0 85 DNA
(2) 205857en 57 A K80 ItoTcSwes
(3) @85 Hovpwrod Sdew Boso

(4) . 2& DNA 58 958 So o F (95 Srg8RrBE -

5. Insewage treatment, the following is put into anaerobic sludge digestion
(1) Effluents of primary treatment-~ (2) Primarysladge
(3) Debris (4) Activatedsludge
S08H A HBHE DOV EHoS” wT ANV WS ER) & ErHos’ HoYerdd.
(1) @e208 5§ o' 63 Sgg0 (2 FSWE D0 Hargo

(3) 2®@eoren 4) \e8=8 HS dorgo
6.  Match the following.
a) Calciferol 1)  Pellagra
b) Niacin i1) Rickets
c) Thiamin 1ii) Xeropthalmia
d) Retinol iv)  Beri beri
808 TID a&HSh 50! |
e -1 e - 11
a) s HPoS ) e
b) QoS i) o8&
C) 4GoHIBE i) jogges

A 38s

The correct answer is :-
DBXS JSrerdsw ¢
(1) a-i, b-iv, c-iii, d-ii
(2) a-iv, b-iil, c-ii, d-i
(3) a-ii, b4, c-iv, d-iii »
(4) a-ii, b-iii, c-1, d-iv

) BoBO
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A colour blind man married a woman who is the daughter of a colour blind father and a
homozygous mother with normal vision. What are the chances of their daughters being
colour blind?

2.8 SToGES HEW B, STT0EEY SoB8-Fdes RO dSocsnny $98 EOND B05978X0
Sirdrtd 08 COR ebed Jod TE0 SToddgo odSuy?

(1) 25% (2) 50%° (3) 75% (4) 100%

Study the following and identify the correct statements.

)  Water hyacinth is called terror of Bengal.

1) Scrubbers are used to control the heavy metal pollution.

1) UV-Brays cause snow blindness.

V) Electrostatic precipitators are used to control harmful'gases of automobile exhausts.

Bob TB egodo Bd WPJ woTW $o800d.

) 98 TroirbossH BYS wb Bomd wotrd.

) ardctse seky JoHoEns EaR (Eed.

) UV-B 8derre S0l & 20535 enfasol.

V) Brird oo S ¢od FREETENYo Johognte DoELEE BRVBLR

SRS 0.
(1) LII 2) ALV (3) LI (4 ILIVY
From the following, pick up the correct combinations :
S.No. | Endocrine gland Hormone Abnormality due to over
secretion or under secretion
[ | Thyroid gland Calcitonin Dwarfism
I | Parathyroid glands Parathormone | Tetany
11 Adrenal glands Glucocorticoids Addison’s disease
LIV Pancreas Insulin | Diabetes insipidus B
808 A Mo0s TBS BE¥DoYord %9008 :
[15.50. | wod@dd% Kod 556°)%0 058 B vy 0
| .| S 890 erede 38
I wdtn Hod SIS T Sodoihey 80
B ©SinSin foes | FoTE S BS80S0
¢ & S
il @RSy, (oo ﬁs;;’s‘ss”gs*oaoéw Q8IS Tgd
N | §%0 2808 GoirDBS asRBas |
(1) LI 2) I,V (3) I, (4)y LI

(AR o8
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10. Match the following.

List-] List-II
a)  Typhoid i)  Vibrio cholera
b) Pneumonia ii)) Corynebacterium
c) Cholera 1i1) Salmonella typhi
d) Diptheria )  Haemophilus influenzae
808 T 2EBETHD0.
e - | e - 11
a)  Barond ) DT ooz
b) Sogdrdcsr ii) &oDargoaho
c) Eoo i11) @”65'2:38‘): B
d) &30, V) TArOR Heodbosr

The correct answer is :
;66@3:6 B8
(1) a-iii, b-iv, q-i, d-it . (2) a-iiy'b-iii, c-i, d-iv
(3) a-iii, b-1, c-ii, d-iv (4) a-iv, b-ii, c-iii, d-1

11.- The device used to accelerate charged particles is

(1) Gyroscope (2) Cloud cha’m%rj// -
(3) Electroscope ‘ (4) Cyclotron?

338 Seoredd #cBdo B TI8 G ITrAoR HdES0

(1) pEA”D : (2) T6& woxb

(3) dogMS (4) BEES

12. Frequency band of FM broadcast 1s
FM H&rdo &) 3:dly 98

(1) . 88-108.kHz - (2) 88-108 MHz
(3) '540<1600 MHz (4) 540-1600 kHz

13, Due to which property of matter, soap bubbles are spherical in shape?
(1) Viscosity (2) Young’s modulus
(3) Surface tension (4) Elasticity
B850 ¥y, @ 8o sEeorr, dagy wodien Aesdos” wodrron?
(1) 5 \ (2) oS0oh Heaso

(3) Sodsgs. (4) RoarsEs

LT 78
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14. The change in the frequency of the sound heard by an observer due to the relative motion
between the source of sound and the observer is known as
(1) Zeemanshift (2) Ramanshift (3) Stark shift (4) Doppler shift
I wsgo HoBosw BoBwHE Sy Fag Solo sémom HOBoM I &R B0,
F:)Sg0S* Srdnydo DZ00ErB?
(1) 258 IS0 (2) oS gD (3) T gdI0 (4) @H8 dayddo
15. In a house 2 electric bulbs of each 100W power are used 6 hours a day. What is the total
number of units of electricity consumed in the month of April 2022 in this house?
28 R0t 2,59, % &3 100W rdoggo e 2 Deog8 wegyen Sardo 6 Hoten GHATN0LETDHT)ON.
& goy RS 2022 J0&° IIDrAoTadS S0go DgS SRy Jopg Dod? |
(1y 72 2) 12 (3) 18 (4) 36
16. The de Broglie wavelength of an electron of mass 9.1'% 10%° g travelling with a speed of
3.641 x 10® ms™" approximately (in m) is
3.641 x 108 ms™ BK08* posredod 9.1 x 10728 g & (58508 o JOTS B 80K3E 550
(m o) oS :
(1) 2.0x107 @) 20x1031%%,  (B) 4.0x103 (4) 4.0x107°
17. According to molecular otbital theory the correct bond order values of species
NO*, O; and CO™ respectively is
weo sB)irSe drroda o NOT, 03, CO* e HBS OFES Deoden SHBT
(1) 3.0,25,15" (2). 1.5,3.0,2.5
(3) 25,15,30 (4) 3.0,15,2.5 2
18. Observe thefollowing compounds
NH,;OH,N;H, HOCL, HCN, Na, SOy, Na,CO3, KCN, KOH, NH,4Cl
The numberof acids, bases and salts in this list is respectively
Bod dMFTrod HBkdoWod
NH,OH, N;H, HOCI, HCN, Na;S0,, Na,CO3, KCN, KO [, NH,CI
& 995" &) vizw, Forer HOKED vl Sopg\ SEJI
(1) 3,2,4 (2) 3,4,2 (3) 2,354 4) 2,4,3
'19. Purest form of commercial iron is

(1) Wroughtiron (2) Pigiron (3) Castiron (4) Magnetite
TIFS 0685 Bng), ©8 HEPS ErDHI0

(1) B8 afsn, (2) ©§ adss (3) 6 akdn  (4) Sof8S

LTI 5.8
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0. Which one of the following statement is not correct about reactions of carbon compounds?

Gattermann - Koch synthesis involves conversion of benzene to benzaldehyde using
CO and HCl in the presence of AlCl; / CuCl catalyst.

Lucas test involves a reaction between an alcohol and zinc chloride in concentrated
HCI to differentiate primary, secondary or tertiary alcohol.

An Sy\2 reaction between an RO™ and R-CH)—X to give R-O-CH,R is"called
Williamson synthesis.

In Sy 1 reactions of alkyl halides, the solvent should be least polar with lower dielectric
constant.

TS &S Jo&rd dTTe FEGOE Ho0H0D VOS™ DS 6?2
§¢365:5-845 BoFhed’ a..oz:S:Sa Bozrdram Srdadd AlCl; / CuCl &@)55°Q)
e pelov bLlatolA EomS:ﬁa CO, HCl ©&° &85 2de 8.
Loéaé 0848 B BYoHd TS S K808 2505?'55 ¢ HCl 22879
B8 OrER HOE esods.
RO™, R-CH,~X © 2655 Sn2 wovg dgrdoes? R-0O- CH R QY3 $858 dDa0DS
ey pete eowdo

©8),S $*B&en Syl $omg IFTos* S0y 260708 G088 Boroso &8 S oG
08 $505 SDErHeney SO

21. Match the following players with their sport event participated in Common Wealth Games

- 2022.

a)  Saurav Ghoshal i)  Table Tennis

b)  Sharath Kamal i) Judo

c) LakshyaSen ' 1ii) Squash

d)  Vijay Kumar Yadav iv) Badminton

55 35 A5 2022 ) frsdhod T FGE EFoTes adddgod.
e - | e - 11

a) (8 FAS 1) Bend BYD

b)) H5S 8508 i) e~&

) oFg ©S i) d9%R

d) oS HIrd dBrdS V) &0t

The correct answer 1s :

BO@S BEFTEED 1y
(1) a-iii, b-ii, c-iv, d-i"-

(3) a-ii, b, c-iv, d-ii «

a-ii, b-iii, c-1, d-1v
a-i, b-ii, c-iii, d-1v

IR

9-B
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Match the following books with the respective Authors.

a) A New India : Selected Writings 2014-2019 1) Dalai Lamaand
: Desmond Tutu

b)  The Little Book of Joy 11) ArunJaitley

¢) The Struggle for Police Reforms in India 1i1) Vimt Karnik

d) Business of Sports - The Winning iv) Prakash Singh

Formula for Success
& 8o JJzrolh T8 SPond(en)os’ 2EI8Wok.

e - | e - 11
a) ey 0805 2SZE Bofh 2014-2019, . 1) ESordo Dodadw AJo& ntwd
b) & OBS wf d =l i) wded B
c) & Qhd 26 OO0 8&53?3 2 RORAST i) Q& £8§
d) 2=I0 ¥ @‘Qg\) - & dQoh >N DE,58)S 1v) ©5°F voh
The correct answer is :
D0 JSrprdswo ¢
(1) a-ii, b-iii, c-i, d-iv (2) a-ii, b-i, c-iv, d-1i1
(3) a-i, b-ii, c-iil, d-iv (4)"" a-iv, b-iii, c-ii, d-i

23.

The following was not initiated in the Quad-22 Summit held in Tokyo on 24t May 2022.
(1) Q-CHAMP (Quad Climate Change Action and Mitigation Package)

(2) HADR{(Humanitarian Assistance and Disaster Relief)

(3) IPMDA (Indo-Pacific Partnership for Maritime Domain Awareness)

(4) GISRS (Global Influenza Surveillance and Response System)

&9 1808 S* 24 3 2022 & &5°8°ge5” 28AS Quad-22, P DBTr3F0eS® | FEoDoTEIR.
(1) . Q-CHAMP (5%& 5305 Bo& S-S wo& BAAS FgER)

(2) HADR (5og5080005 o23S) @08 8ewgb 689)

(3) IPMDA (R0G-5555 35605 36 57685 &'HS w3630)

(4) GISRS (Fad adyozr (63565‘3 ©0& BN DY)

TR 108
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Choose the correct statements with reference to 12U2 Summit 2022.

a)  The first leaders Summit of 12U2 was held physically on 14% July 2022.

b)  Prime Minister Narendra Modi hosted [2U2 Summit.

¢) They have agreed to increase joint investment in the areas of water, energy and transport.

d) They have agreed to increase joint investment in the areas of space, health and food
security.

(1) (a)and(b)only (2) (a),(b)and (c)only

(3) (a),(b)and(d) only (4) (c)and(d)only

[2U2 $¢5:59) 2022 &0 doo0bhow 38 a"ggpgozéa 2ot ok,

a) I202 3088 arofoe 360y F@fom 14 @8 2022 S 20008.

b) Prdsod $ogard 1202 3poy 5r3708 s8gge K.

c) =m0, ¥ 500050 e omred® Doong Higwddien 00D BoETIE T8
wohgbow .

d) osd¥o, e8go Sobcsn eHtS FEE Somreoe® Hoskog igu ket oY Do I8

- 8 wohgBowmiy. . . .
(1) (a) S0 b) Sr@3, (2 @) (B850 (c) Sigadd
(3) (a), (b) So8cs0 (d) SF& (4) . (c) 58050 (d) SrEBd

3

The first Indian has been selected for the prestigious Boltzmann Medal-2022 awarded by
the International Union of Pure and Applied Physics.

(1) Gautam Menon (2) Sriram Ramaswamy

(3) Arindam Ghosh ‘(4) Deepak Dhar

208RSS oS 6. rgd wob vk H=§) Bdo B @P8IEEDS Gl
ES - 2022 B QS D08 EoteltIovbutat)

(1) B8 DS (2) Roeo TeSoargdd

(3) ©BolH 'R (4) &35 6

26.

Russia has claiméd four regions of Ukraine following so-called referendum held in
September 2022.‘The four regions are

(1) Kherson, Kyiv, Crimea and Donetsk

(2) ¢ Kharkiv, Donetsk, Luhansk and Kyiv

(3)-. Donetsk, Kherson, Luhansk and Zaporizhzhia

(4). Luhansk, Zaporizhzhia, Kharkiv and Crimea

Jnowb 2022 & $arg 8JT0E0 258 GEONSS'A Treoid [Fosr i S DGV,

8 T (oS

(1) B/ES, 85, 8o Sobcdn &Ry,

(2) 29, &Iy, erTtRY, 0dcs0 5

(3) &3y, B, L]y, $o86380 2RPBEAST,
(4) o]y, =FoeT, PO 00D Booss

AR 18
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The 38 Ministerial meeting of the Joint Rivers Commission of India and Bangladesh held
in August 2022 had signed a MoU on the withdrawal of water from the following river

(1) Teesta (2) Kushiyara (3) Ganga (4) Brahmaputra
ey 20228° o0& 2O BTe eyl Soo ERS g, 385 AYBRS DErIF0S”
& Bob 38 GwE) B INARrfop LITTT 29)080 e HodsTed RTE0.

(1) & (2) Hnosror (3) 7 Ko (4) TR

g5

“Resilient Democracies Statement 2022 was signed during the following Sutnmit
(1 G7 - '

2) 1202

(3) 14mBRICS

(4) SCO (Shangai Cooperation Organisation)

B0BolS BAFEDLD [EH0E 2022 & §0b HE5/eS® BodsTen Bahwdod.

(H G7

(2) 1202

(3) 145 ©§

(4) SCO (dropo FHORS ©dIBAR)

29.

Choose the correct statements regarding Netaji Subhash Chandra Bose statue which was

unveiled by the PM Narendra Modi at India Gate recently.

a) Theunveiling of the statue of Netaji was accompanied to the tune of “Kadam Kadam
Badhaye Jaa”. *

b) Height of the statue 1§28 ft.

c) The team of sculptors for executing the statue was led by Ram V. Sutar.

d) A special 15 minute drone show on Netaji’s life was projected at India Gate in the

eveningsession.
(1) [(ayand(b)only (2) (), (b)and (c)only
(3). '(@), (b) and (d) only (4) (c)and(d) only

w850 BED SBoEArE qobosr Hits 3¢ Fewd Bl Boga™s (i ©IYow B
508 Bowofod HBSWS g0 JdoH¥ TAokok.

) ded ET LAY B S8R 2Fdh & O3 Lrgss’ do Fhod.

b) Do Ay 28 wdorbe.

c) OFro Sosrd Bosno Fwnye 2)or8 T°a0.D. e Trogso STrowrd.

d) Bed 40 s 15 dMTo @S A FewoEH HHeReS mobalr 4S5 3¢

@ &8y T8
(1)  (a) 8050 (b) S&H (2) (a), (b) H8050 (¢) S
(3) (), (b) So8csn (d) S (4) (c) $8050 (d) SorEgo

(TR 128
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For the year 2022, PM awards for Excellence in Public Administration aims to recognize
the contribution of Civil Servants in promoting |

a) SwachhJal b) SwasthBharat

¢) Quality Education d) Digital Payments

2022 0580738 PM oag) 56 AEBY) AR 186 @&gb&)&géS 85 & 808 S EgEST O
@rosdod’ BAS $Bg0L) BoE), By K080,

a) dghHud b) &} S

c) egRod 4 d) &zeod VYo
(1) (a), (b) &(d) (2) (b), (c) &(d)

(3) (a),(©) & (d) 4) (@, () &(©).

31. As per the ‘India State of Forest Report 2021” released.in January 2022 by the Union
Minister Bhupender Yadav, the top three States shown maximum increase in forest cover
are, respectively :
a)  AndhraPradesh b) Telangana c) . 'Sikkim d) Odisha _
o8 $0@ ST wols SSrES 280 2022 &° Do BRS ‘Qodosr RE &P FOF 0FG
2021 Hs 8o v&d INGoS® KOJ = BB E ST BRS INGE Horr o TrIFFee HEJT
a) ©oWwaT b) Beorre c) 9§o i d) &2
(1) (@, (@) & (b)+ (2) (b)(c)&(d)
(3) (). (@) & (D) (4) (a), (b) &(d)

32. Choose the correct statements from the following.

a)  Arare pink diamond discovered in Angola in July 2022.

b)  Thispink diamond'is named as Lulo Rose.

¢) Weight of pink diamond is 43 grams.

d) Itisthe 5h7argest diamond recovered from the Lulo mine.

(1) (2);(b)and(c) only (2) (b),(c)and(d)only

(3) (a),(b)and(d)only (4) (a),(c)and(d)only

& Bod &S $VS gy JoHosod.

a) “edHm ofod Dok 380085 wolfers® »8 20228 8&ofam)8o.

b) & 20§ Bookd ord’ 8 wd THE8wo AT.

c) 20§ @0k &P 43 S0 en.

d)  orSTRS Kok IDEEVS TES* Qd 55 DE BHok.

(1) (a), (b) SoBcs0 (¢) Srigd 2) (b), (c) 0050 (d) S
(3) (a), (b) Sodcsn (d) SR~ (4) (a), (c) S08a%0 (d) Sr@a

TR 138
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Which of the following is correct regarding Sustainable Mountain Development Summit
(SMDC) - XI?

a)  Theme is “Harnessing tourism for Sustainable Mountain Development”.

b) Held during 6% October, 2022 to 9™ October, 2022.

¢)  Prime Minister Shri Narendra Modi attended the inaugural session.

d)  This summit held at Leh, Ladakh Union Territory.

(1) (a)and(d)only (2) (a),(b)and(c)only

(3) (c)and(d) only (4) (a)and(b)only

QG 2EErRBYE 3Po 38Ky (SMDC) - XI % o080 383305 Kogousod.
2) R B8ED8Y S0 SoghER) DIRFAHESEC”, I udIHEo.

b) 6 ©8a8 2022 %08 9 wFab 2022 S65r 20008.

C) (FEoFTEGESrAE HerdSHoo@ @ S0 $Irs Trulasrgd.

d) Sog>OE Fodo LEFS BTS* & H&vy ATESHEOE.

(1) (a) So8c%0 (d) SrEd @) (@ (B)30805 (c) Sored

(3) (c) 508050 (d) S (4). (a) 538030 (b) S

36.

Choose the incorrect statement regarding the Independence Day Celebrations 2022.

(1) A special youth exchange programme with 127 cadets/youth from 14 countries.

(2) Murals on kite flying are displayed.at Mina Bazar.

(3) Wallhanging of Param Vir'Chakra awardee from different States and Union territories
adorned the walls of Red Fort:

(4) Inmammoth art project of Kala Kumbh, 8 scrolls each of 75 meter long were displayed. -

T EE JgBo8y BS'E)S Fkogwn 2022 8§ Jon080D JBS FTEZSN JoE BaHod.

(1) 14 B7o S008BYPS 127 S008 FAE/SrS HBgE J§)od s EgE0.

(2) DT2rES' MONre Sk ATTO HEGS.

(3) ASFL ARG G Trigren H0as0 ol FOE (Fodod BodS HE5 JESE
oI Borde DY Hirod weosdowrd.

(4) S-S0l DodS IS E6E Jow080R aFYHE 75 g FEIS 8 @9
R EBow s, -

37,

On September 17, 2022 PM Narendra Modi released Wild Cheetahs which had become
extinct from India, in the following National Park.

(1) Kanha ¢ (2) Panna (3) Kaziranga (4) Kuno
EER306” wogBoNF0NS BEd ADHELH PBrd SBoE3rd wRoas 17, 20223
& 800 IAIE oy S* ddde BT, .

(1) &< (2) 2 (3) &=8om 4) &s&°

AT A 158
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38. Which one of the following place yielded archaeological evidence of pit dwellings?
(1) Pallavaram (2) Mehargarh (3) Gufkral (4) Balakot
KoBest DTB5nEE B000B0Rd DTS FFTYLL O (oo’ EAVF00?

. (1) o380 (2) pFERL.. (3) HaES (4) worordS

39 Who was the officer in-charge of Pastoral Lands in Rigvedic period?

(1) Vrajapathi (2) Jivagribha (3) Kulapa (4) Suta
20hgE S0t DS 2k G 985D JSK?
(1) S8 () &30 (3) Hood~ (4) ¢
40. Identifj/ the incorrect pair in the following. «
(D Ajitanatha - Elephant (2) Naminatha=Blue Lotus
(3) Arishtanemi - Conch (4) Vimalanatha- Buffalo
Bod TS $65°Q 28 MHBowod.
(1) @856 - (2) &G - AOEJeo
(3) ORI - Fomwo (4) LaSoTE - Ba -
41. Match the following.
List-1 List-II
a) DevaGupta i)  rulerof Kamarupa and close friend of Harsha
b) Sasanka i{)"" Harsha’s brother-in-law
c) Bhashkaravarman iii) ruler of Gauda who killed Harsha’s brother
d)  Grahavarman ~iv)  rulerof Malwa who killed Harsha’s brother-in-law

Bod TN wSHEBek.

LS e - 11
a)  B3K0RE i) sHodrd Josid oo TR OBk
b) [Fo&ds i) TR &b
¢) K88y i) ¢ Fodik, T FEHA HodIT e
d), B85y iv)  Soreg Fodd, T8 eS8 WonSTeed

The correct answer 1S :
HORS DIrERDw !
(1) a-i, b-ii, c-iv, d-iil
(2) a-iv, b-ii, c-iii, d-i
(3) a-iv, b-iii, c-i, d-ii*
(4) a-ii, b-i, c-iv, d-iii
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42. Arrange the following South Indian rulers in chronological order.

i)  Krishnal 11)  Kirti Varma I

1i1) Mahendra Varma [ iv) Pulakesin I

8ob &8 SFrodrod TToElSrdardo vk

1) Soodes o i) s 8p S8

i) S0 STro|dSEy V) 308 Hodl

(1) 1,1v,u1, 11 (2) 11,11, 1v

(3) iv,ui, i1 (4) iv, 1,111, 1
43. Identify the correct pairs in the following.

a)  Vasantarajiyam - Kumaragiri Reddy

b)  Srungara Naishadham - Srinadha

¢c) Sahitya Chintamani - Pedakomati Vema Reddy

d)  Vema Bhupala Charita - Vamana Bhatta Bana

1808 TAS° Hdwons wdoln Hfowkod.

) SPodTEcHBN - LSFEND B

b) Fomd JXGD0 - R ASLS

c) rdg Dosrdd - DETHE IS0V

d) I grTreo K88 - TSPy 0k

(1) @),®)&(c) (2) (a),(b), () & (d)

3) @&(®) (4) (a),(b) & (d)
44. Arrange the following travellers in'the chronological order.

a)  Sulaiman b) Al-Masudi

c) Marcopolo (- d) -Fernao Nuniz

8od Sr@%ol, sFerdHES0s” @dossw.

a) DB b) ©S5-03508

c) S FS d oS SegdE

(1)  (d),(c),(b) & () 2) (b),(d),(a) &(c)

(3) (), (b), (0) & (d) (4) (c),(a), (d) & (b)
45.4, Which one of the following Chalukyan inscription mentions the founder of the Kakatiya

Dynasty?

(1) Palampet inscription (2)f Mangallu inscription
(3) Motupalli inscription (4) Mangalagiri inscription
Bod TIS° TE8CH HoreNHWED DOYS) Ty TOS0 287

(1) Deooné 7=dS0 (2) Soroffen THSO-

(3) BB TJJ0 (4) SooK$nd T3S0
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46. Rani Avantibai Lodhi, who participated in 1857 Revolt belongs to which kingdom
(1) Khurda (2) Ramgarh (3) Nagaland (4) Jhansi
1857 &&tertnd® POl T @S08rcdSd & Tay FPosOT 0
1) ¢ () oo (3) smeos (4) S

47. Who made Bombay (Mumbai) as a major Commercial hub
(1) Job Chomock (2) Francis De
(3) Gerald Aumgrinen (4) Framcois Martin
5020 (S0002700) eedesg Boomr BHIE IS58?

(1) &6 5§ ¢ (2) @0 @
(3) Aog wohdHS (4) @roSa® 58S

48. Who is the author of “Alangir nama’? -
(1): Mirza Muhammad Qazim (2) _Muhammad Souqi
(3) Bhim Sen (4) Khafi Khan
‘W0oAs T5F Fond JS58?
(1) Dog 2508 g2 ~ Q) SoTrEs
3) B ™ 1) w2

49. Who translated books of the Brahmo Samaj into Tamil and Telugu?

- (1) Kandukuri Veeresalingam (2) Chembeti Sridharalu Naidu

(3) Subramanya Bharati. (4) Raghupati Venkataratnam Naidu
@I dSrasn Horrofh SDFSN, Boold Frled’ BHIB0DI T ISE?
(1) Bo&odrd J3¥DosSa’: - (2) Box&3 3goren J°cS0Ed
(3) Dooeg =T8S (4) G008 Joseasdo TroSkd

50. Identify the cotrect pairs in the following\.

a) The Madras Labour Union - 1918
b) TheAllTndia Kisan Sabha - 1926

¢). TheAll India Trade Union Congress - 1920

d), . Bardoli Satyagraha - 1928

1808 TrBS® HORS 28 HBokod.

a) & JErde Sa6 chrdohs - 1918

b) & S Q085> 8 $e - 1926

) & ¢S R0&S> BE SHrdch sPodR - 1920

d) =gd Jegidro - 1928

(1) (a), (b)&(c) (2) (a),(b),(c) & (d)
(3) (a),(c)&(d)- 4) (b)&(d)

LT (8.8
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51.  Who among the following is not connected to Gadar Party.

a) HarDayal b)  SuryaSen

c)  Sohan Singh Bhakna d)  BhaiParamanand

808 TBES’ IS KSE FEE BowoBowd T,

a) STEESrS b) J=sgRs

) RESSvOR g d) oD B85rS0E

(1) a (2) b 3) ¢ 4) d
52. Name the American Journalist that witnessed the Salt Satyagraha in 1930,

(I) Dominque Lapierre (2) Larry Collins

(3) Webb Miller (4) Jeff Thomseon

1930 &Jy Segis*q) HSoNoDS wRBES GBS0 BHEDH?

(1) &DIE o3 (2) o880

(3) 35 W& (4) B xR
53.  According to the IMF World Economic outlook repoit, Qctober 2022, the Global Economic

growth forecasted for 2022 and 2023 respectively ' >

o806 2022, IMF 8508 ©hSens Fe et @5160 2022 08080 2023 e wosa

350083 B0 68 55 SEdm Y

(1) 32%&2.7% (2) 2.7%&32% () 6.0% & 4.7% (4) 4.7% & 6.0%
54. Match the following Cinema Awards with their Best movies.

a) Canes -2022 1) CODA

b) 5204 IFF] i)  Triangle of Sadness

c) BAFTA-2022 iii) Ring Wandering

d) 94" Oscar iv)  The Power of the Dog

& $0b IV _oTHo T8 85 e 2dH5E0s.

AL\ | e - [1

a).  ¥x) 92022 ) 8o

b) "\, 525 IFFI 1) (cSroAS u9 TEID

c) BAFTA-2022 1i1) BofA TroKbof

d) 945 e s - V) & D55 &5 & @h

The correct answer is :
JBADS SSrSSw |
(1) a-1v, b-ii, c-iii, d-1~
(3) a-iii, b-ii, c-iv, d-i~ -

a-i1, b-iii, c-1v, d-1
a-1v, b-iii, ¢-i, d-ii

NG EA



G-2 . Booklet Code B

55. Matchthe following Indexes/Reports with the India rank.

a)  World Press Freedom Index - 2022 1) 136

b) World Happiness Report - 2022 i) 135

¢) HumanDevelopmentIndex-2022 i) 150

d) Global Gender Gap Report - 2022 v) 132

8ot BS@BS Jorden/dRBE0S RoddSr Tgoses’ addETod.

e -1 e - 11

2) S6S @O P& 2088) - 2022 i) 136

b) 38§ SIS 8§ - 2022 i1) 135

c) Sl eI s - 2022 i) 150

d) Hos Do Sgergd JwoedE - 2022 ) 132

The correct answer is :

JBGNS JIrTSBw0 ¢

(1) a-iii, b-ii, c-iv, d-1 (2)( a4, b-iil, c-ii, d-1v

(3) a-iil, b-1v, c-ii, d-1 (4) la-ii, b-i, c-1v, d-ii
56. In January 2022 India and Nepal signed a MoU for the construction of bridge over the

following river at Dharchula.

(1) Mahakali (2) Mechi (3) Gandaki (4) Koshi

FEsrer 5§ & 8od I8 5085 Qoerds qodsr 508050 IFSen 2022 23550¢°

WSTHS wB)soR Jodsed BIw.

(1) S05%5°9. 2) 2D (3) Hods (4) &
57. LVM3-M2 successfully placed 36 satellites in orbit. Correct sentences regarding this are

a)  This is the first New Space India Ltd. Mission with LVM3.
b) One Web limited is a Network Access Associate.

c) 36 satellites weigh - 644 kg.

d) LVM3-M2weight-5796kg.

(1) (a)y(c)and (d) only (2) (a),(b)and (c) only

(3) (c)and (d) only (4) (a)and(b)only.

BVM3-M2 o-6TE 36 §@50 ¢dfiross 857 Bhguasom HIY DEI6. 68
20200800 DO TG0

a) 20 LVM3 & Sorgayd m0805r d08E 3068 A

b) 3535 OMBE ©Id 28 SSEG, PP LIVEHE,

c) 36 edEtto aky - 644 kg.

d) LVM3-M2 & - 5796 kg.

(1) (a), (c) S0050 (d) Sm&:3 (2) (a), (b) So8csn (c) SomES

(3) (c) $o8c5» (d) S (4) (a) 08350 (b) SrESd
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The Prime Minister of England at the time of Queen Elizabeth II’s death.

(1) BornsJohnson (2) LizTruss (3) TheresaMary (4) David Cameron
8¢8 0=BSE-II Sodedod 0058, ROl BFIB0@

(1) 8% &SR (2) O©F ;" (3) Boar b (4) QA& Lo8=R

59.

Choose the correct statements with reference to the Union Budget 2022-23.
a) Oneclass - One TV channel programme of PM eVIDYA to be expanded to.200- TV
channels.

b) 500 new generation Vande Bharat Trains to be manufactured during the next three
. years.

c) 100 percent of 1.5 lakh post offices to come on the core banking system.

d) A network of 32 tele-mental health centres of excellence will be set up.

(1) (a)and(d)only (2) (a)and(c)only

(3) (a),(b)and (c) only 4) (a),(b)and (d) only

CBarQcse g8 2022-23 8§ SowoHhod HBS PPV QoS 0. -

a) PM eVIDYA & BodS g S6K8-u8 TV, o35 @& 200 TV aISosh
Q{80 08.

b) oseh Sodgs’ 500 £F $8e 50DBES BEKH Scirdd BasoTY.

¢c) 1.5 eofe 5355‘;;%630:63 L00 TS0 &6 2pgo8of dYHS* Byko wdEod.

d) 32 BO-R0obS TG Dol WHMYTY) IEHE), Joryen BowdkdEod.

(1) (a) o880 (d) Sovggao (2) (a) 508050 (c) SovEBI

(3) (a), (b) SoB0s (c) SPEH 4) (a), (b) So6080 (d) S

60.

In August 2022 Supreme €ourt declared that Section 3(2) of the Benami Transactions
(Prohibition) Act 1988 asunconstitutional. Section 3(2) of this act gives provision of the
following punishment.

(1) Threeyears.maximum imprisonment or fine or both. ,

(2) Properties held benami shall be subject to confiscation by Authority.

(3), Maximum 12 years imprisonment (or) fine.

(4). ‘Maximum 5 years imprisonment and confiscation of properties>

Gy 20226 D08 cragor DDA FEINS T o TEIe J(K)'fqd) $¢30-1988
S° DES 3(2) & 1808 2EH DGOV Den EOY0G.

(1) S8 $6% Bendd B wdirs B Bodotdd €O

(2) B> s 2HIH edso

(3) JR)od¢) KoH Bendy (Bor) wddra

(4) #doZomr »3¢) Bend§ Hbosw wiye 2y
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61. Identify the correct one relating to the tenure of Lok Sabha
(1) Cannot be extended under any circumstances>
(2) Canbe extended :
(3) Can be extended by not exceeding one year at a time during the proclamation of
emergency
(4) Canbe extended by not exceeding 2 years at a time
S°8 35 KB HE Sowo0dHoD JB0S a‘sgpg(‘éa $8okod.
(1) A& 2P0 s {dHd FdAoESI0
(2) HaoDss SahoESSy ’
(3) o&go0E HBJ8S® 230 | JoldE Tord§ JosKon @é&ﬁoﬁézﬁoj
(4) =3 &8 Bod RoSE)Tro 58 MowWKom FEA0WH)
62. Ifanew State in the Indian Union is to be created, whieh one ofthe following Schedules of
the Constitution must be amended _
(1) Fourth Schedule : (2) ( Second Schedule
(3) Third Schedule (4) First Schedule Py,
TE8 Syt o8 §F oo T BF008 Targofos ) 2 Rdrgend $580wO
(1) ol drgen (2) To&S ndrgen
(3) SordS degen (4) 3088 ndoegen
63. Which of the following is NOT a feature of the Government of India Act, 19352
(1) Dyarchy in the Provinees
(2) A Bi-cameral Legislature at the Provincial level
(3) Provincial Autonomy
(4) ‘AnAllIndia Federation
Bod TUST g Wb w$¢0-1935 Bg) wgmo $AH?
(1) &Ifos ustose Jrod
(2) FAIQod® &ederdeSo
(3 @FIQos Hoho @D,
(@) 288 =805 dSrpg DTt
64.. Thesalaries and allowances of the Judges of High Court are charged on

(1) Consolidated Fund of India - {2) Consolidated Fund of the State
(3) Contingency Fund of India (4) Contingency Fund of the State
Ty g TIONFIoSY Trgalrdio £8 Ferger & G Kod BOTH
(1) e éo:msé A8 (2) ooF SoRsE

(3) 88 wiosE I8 (4) og shods I8

LR 28
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65. The State which has the largest number of seats reserved for Scheduled Tribes in Lok Sabha

is

(1) Odisha (2) Jharkhand

(3) Gujarat (4) Madhya Pradesh

&°5 J¥es® adrgen 8o 8850 edsRE Sopges” KOA @) o°go

(1) =é (2) &g ok

3) K=os (4) SoggDdas -
66. The following Schedule of the Indian Constitution contains provisions relating to

Anti-Defection Act

(1) Second Schedule (2) Fifth Schedule

(3) Eighth Schedule (4) Tenth Schedule

88 Targofioss® 3§ horomoye IR BLHOH Bo20HoDS RaFESen 04 &8
adorgen

(1) Bo&s adrgen (2)), ®o0dS ndrgen

(3) 0ES drgen (4 385 ndrgeo .

67.

Who among the following beéame the Prime Minister of India without being earlier the
Chief Minister of a State?

(1) Chandra Shekhar (2) Morarji Desai

(3) Charan Singh (4) Vishwanath Pratap Singfi
TESE P 578 S00Y) ¥ o°g Sopgood HED QBT 0T ?
(1) So3ns \ (2) 300§ BzeoD

(3) @SS 2ok (4) %6 BeD BoR

68.

In the Interim Government formed in 1946, the Vice President of the Executive Council
was

(D C. Rajagopalachari (2) Dr.S.Radhakrishnan

(3) . Jawaharlal Nehru- (4) Dr. Rajendra Prasad

1946 S SosSoes® DU‘Qéboao(‘é SEF0ES (HeHe0es 5785 QNI S008d wardgioeon
BT

(1) 2. ocaifdroras (2) @ 9. TTERS

(3) =356ersS I (4) @1 TEo DS

O 238
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69. The Attorney-General of India is not a member in the Parliament, but he shall have the right
to speak in Parliament under this article of the Constitution
(1) 88™ Article (2) 76" Article
(3) 75% Article (4) 86" Article
TErgofo R € 18od ©BESm H5 60 FEI0oS” B0yl TIHBE 78S wérd)uIES
&gsaoéaoei‘ Bohod w5 o E8A G
(1) 885 w&gdmo (2) 765 ©&88w00
(3) 755 8880 (4) 86S ©H8seo
70. The election symbol of Mizo National Front in Mizoramuis
(1) Umbrella (2) Star
(3) Lion ' (4) Kite
& (808 TAS* WE T 0S W IASS FPodS FY WNEO KK
(1) Fdaiks @) Sxso
(3) doFro (&) mOBL0
71. The Constitutional Amendment Act that increased the seats of Lok Sabha from 525 to 545
(1) 21% Constitutional Amendment Act
(2) 24% Constitutional Amendment Act
(3) 25% Constitutional Amendment Act
(4) 315 Constitutional Amendment Act
& Bod Targol $58e W0 o S Bef IO Doy 525 o0& 545 S0 oo
20438
(1) 215 omegon S8 &0
(2) 248 orergor J38e o
(3) 258 oeergor 338 W&o
(4), 318 Trargol X8 WY
72.°The Person with longest tenure as Speaker of Lok Sabha is

(1) G V.Mavalankar (2) Balram Jakhar
(3) P A. Sangma : (4) Shivraj Patil
SESY ByEom IS S oo D BIS T |
(1) GV.Zorosd (2) woT 53§56

(3) PA %oy (4) 3308 >8S

R 48
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73. A Writ to direct a public official or the Government NOT to enforce a law which is
unconstitutional \
(1) Certiorari (2) QuoWarranto (3) Prohibition (4) Mandamus
©30dy G’gh Bor Pebeyd) oargol Sg83E Sereo woeodd JdHIckotass J9803
8¢S :
(1) 8R>od (2) Eooes? 3) @IS (4) Sroddod

74. The 73" Constitutional Amendment Act added Eleventh Schedule to the Constitution that
contains
(1) 18 Subjects (2) 29 Subjects (3) 22 Subjects (4) '21/Subjects
738 orargont 3380 W08 mégéﬁoé‘ BGwdS 115 ndorgen. So FolREYBS
YOTO 609_35 . ‘
(1) 18 women (2) 29 woreyp (3) 22eozen (4) 21 wozren

75. " For the first time Indian Legislature was made as ‘‘Bi-cameral Legislature” under
(1) Govt. of India Act, 1861 (2) "Govt. of India Act, 1892 - V@%
(3) Govt. of India Act, 1909 (4). Govt. of India Act, 1919 A '
EEBFoS® Sy Do Ty TS FBI° Ggods Do Srd)S Who N4
(1) or88 Pabes wego, 1861 (2) 88 Bedds S0, 1892
(3) =88 Pabes weyo, 1909 (4) 288 ©Habds $&o, 1919

76. The Author of the Book “Poverty.and Un-British Rule in India” is
(1) Dadabhai Naeroji | (2) R.C.Dutt
(3) VKR.V.Rao . (4) Dr.Bipin Chandra
“>S8 ©08 ©308R ErS aS R0sor” eI HIFW) DD T
(1) woearon &5 (2) «82.8%
B) 23830003 (4) @025 So

77. Which one of the following is not a reason for agrarian distress in India?

(1), Unviable agricultp.re' (2) Ineffective minimum support price
(3)  Favourable terms of Trade (4) Rural indebtness

Bod FBS® erdd BFoS* SgSFc0hBos Ho§erI8 57600 708 6?

(1) Adperin 5 Sgdrado (2) JHogo 570 EAD Ko F8en

(B) w38 588 dwodSen (4) (rdoe Segrdo
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According to WTO, the Blue Box 1S
(1) AmberBox with conditions

(2) Green Box with conditions
(3) Red Box with conditions
(4) Combination of Green and Red Boxes with simple conditions

WTO @ 50800 0 g &l

(1) Adéhod® SrdS voud

Q) 2660 Erds s BF

(3) R0 ErdI 0P ©G

(4) Sgden Ao §rdd eBoDH) SdB0 QoY) DB geond

0%

Human life energy requirement in terms of calories as'a measure of poverty in India was
used for the first time by

(1) RangaRajan (2) “Tendulkar

(3) Dandekar and Rath (4) Planning Commission

o 8BH0S" HEOTR) Feribos® SRSSIGe 8 eSsicy FAE JeSOm (calories)
$BKESS D8 BRED F0EBTOM, GISrAODITH

(1) ooz (2) Botoe)d

(3) HodEs $obas» B . (4) o8 dowo

80.

Money Multiplier is defined as

(1) ReserveMoney/ Supply of Money
(2) Supply of Money / Reserve Money .
(3) ReserveMoney * Supply of Money

) Supply of Money — Reserves

Resérves
B8y Koo 2 dFom JEgDos&08
(1) deg G50 / BSg0 $H%
(2) Bdgo dP% / dvg $Sgo
(3) Qeg |ES5g0 % B350 [SIS[eNe

@) ($5g0 HDO . S)o‘soo

&)oogoa
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81. Based on school education quality index 2021, the best and worst performing Indian States
are
(1) Tamil Nadu, Jharkand (2) Kerala, Bihar
(3) Kerala, Jharkand (4) Tamil Nadu, Bihar
853505 2021 HoSE)0TIE ¥0w0HoAS Ty Treagd JordIKV00D wer SHFH
Hooose Desor HIWS orEpew QB8
(1) Sodad, gob (2) s8¢, dESE
(3) 8¢, =gok . (4) SogTd, HHE

82. As per the Health Index (2021) released by the NITI Aayog, the top.performing states are
(1) Kerala, Gujarat (2) Kerala, Andhra Pradesh
(3) Kerala, Punjab (4) Maharashtra;Andhra Pradesh
28 w&ErF B e BoHdS vy S (2021) SK080D oD D B EHBAS
PN BNy
(1) $8%, Hzos (2) 38%, BodHaT
(3) 38¢, Ho=rd (4) " TG, soSRBE

83. The number of Public Sector Banks in India after merger during 2020 is
2020 %o5&B0s® rESBToS’ 28AS DDE S ergodie IS0 So¢E IY) wrgosien
&0 BIN
(17 o 2) 12 (3) 13 4y 14

84. What are the two least performing states in India in the achievement of Sustainable
Development Goals during the year 2020-21?
(1) Bihar, Jharkand (2) Bihar, Uttar Pradesh
(3) Uttar Pradesh, Uttara Khand (4) Bihar, Rajasthan
808 TBS* ABOE TyFen 2020-21 LodE)EoS® LoVEFS ©NBYR OFgo FHowLS*
D56 Vo P’ €y I)00?
(1) OFF6 e=gob (2) D56, SSBHBT °
(3) &S8RES, ego ol (@) D55, RS

85. Pradhan Mantri Matsya Sampada Yojana (PMMSY 2020) intends to increase the productivity

of acquaculture to

(1) 5 tones / hectare (2) 6 tons / hectare

(3) 8 tons / hectare (4) 10 tons / hectare

BEdso® Sy Sodd Srad (PMMSY 2020) $30358090) GHos® Jdyy wé Ko
SEEESS 2 DK DoTod GRIoT2Bs VST '

(1) S odnen [/ Trgdd (2) 6 Ldnen [ Trgdd

(3) 8 wdyen /g (4) 10 ©8nen [ g
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The shadow zone for both P and S waves during an earthquake 1s
(1) 105° to 145° from epicentre

(2) 90° to 180° from epicentre

(3) 35° to 75° from epicentre

(4) 165° to 220° from epicentre

SrEoD HBocsSnes® P Hdasn S ddomred BoBoBs asr Sodwom wod (Fogo

(1) srgod Sogo Kook 105° - 145° Sogg @rodo-
(2) ergod Soo o0& 90° - 180° Hogg (&rogo:
(3) 5o Soio ook 35° - 75° Sogsg (@roso
(4) &0 Bogo Kook 165° - 220° 55655 oS

87.

The state producing largest sealinggwax in India i
(1) Bihar (2) AndhraPradesh (3) Uttar Pradesh.« (4) Haryana

88.

89.

90.

91.

ESBI0S® 0§ S WHEOT ENE T oo

(1) D56 (2) soBHBT (3) [ &88Ras (4) Sogd
Aus, Aman and Boro are crop varieties of :

(1) Wheat (2) Bajra (3) “Paddy (4) Jowar
TD, @58 BB 6 Hod G5 528 BoLIB.

(1) Ao (2) 3z (3) %8 4) =5
The state having lowest area under forest

(1) Punjab (2) Haryana (3) Uttar Pradesh (4) Rajasthan
ST ¢ ZJ‘f’_ggo §ONS oy 0

(1) dDoz=d (2) Soge (3) &SEHBT (4) oBI
From the following, choose the wrong pair of National Parks and States.

(1) Balapakram= Meghalaya (2) Bandipur - Bihar

(3) Dachigam - Jammu & Kashmir (4) Namdapha- Arunachal Pradesh
B0 T8S* B FEn 0 000 oo J0FR 2E™ $o80t8050.

(1) ) 2OBES - DHrocd (2) 20836 - HT6

(3) doamS - wdny & 545 (4) T0EF - BT HORRT
The Planetesimal Hypothesis is proposed by

(1) Kant (2) Laplace

(3) Jeans (4) Chamberlin-Moulton

(orsro D8NS REFHONIB I

(1) so& (2) o2

(3) =) (4) a‘oagS—ﬁ‘%S
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92. The period of the South West monsoon in India is as

(1) July to October (2) May to September

(3) June to September (4) June to October

T ESBF0S" J2008 DS sTeo 28

(1) =8 HHod v§ns 555 (2) Do Hood DPowE 565

(3) @S %08 WPows S6& - (4) =5 508 ©Fnb S68
93. Theriver called as ‘Dihang’ in India is

(1) Ganga (2) Indus (3) Brahmaputra (4) (Yamuna

TESBF0S® ‘BF0R oI WS DeoldddP) I8 / _

(1) Kof (2) Do (3) @IS (4) %50
94. Match the following.

a) Titan i)  Jupiter

b) Ganemede ii) ~Mars

'c) Phobos 111)" Neptune

d) Triton V)", Saturn

& 8o T 2EJBY)D0.

e - | e - 11

a) B&rs Y o i Y BT

b) K52&. - ' i) oomss

c) &SR iii) oo

d) B | iv) 4

The correct answer.is ¢
:669_33;6 POPR S ilevid Ines s

(1) a-ii, bAfiipc-ipdeiv (2) a-iv, b-i, c-ii, d-111 ’
(3) a-i, beid] c-11i, d-iv (4) a-iii, b-iv, c-1i, d-ii

95. Gneiss; Marble, Quartzite and Schist are the examples of the following rocks.
(1) . Metamorphic rocks (2) Igneous rocks
(3) Sedimentary rocks (4) Chemical rocks
IV, FoTow, SEERG 0B AQYen & §od TAS* Q ot GTITEn.
(1) Srarodd 3en (2) ©hf) 3o

(3) ©58d oen ¢ (4) BFroHd oo
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96. FFDA means
(1) Fish Foreign Development Area
(2) Fish Farmers Development Agency i
(3) Free Fish Development Authority
(4) Fish Frame Development Area

I9.09.8.9. @I

(1) 2B3 Sodg Bdo I @roghn
(2) @é&g?é}o STARA Qo

(3) Soggsedhe G DI Bl
(4) Soggsdo DR Sol3do

97. Khadar, Bangar soils are related to following these soils

(1) Alluvial soils (2)" Red soils
-(3) Black soils | (4) (Desert soils
057658, 2oKE wID € 5o D Food RoRID
(1) zo o (2) Y Jewen
(3) SooKd Jvewo . (4) dd Jewen
98. According to 2011 census, Scheduled Tribes population is absent in these States/Union
' Territories.
a)  Pondicherry b) Haryana
¢) Kerala d) Maharashtra
2011 zarer Kead B5°60 & orEren/soll o8 Posros® ndryg 8le P 8o
a) >odIO b) SogT
c) BY d) SoHoR
1) @ &) 2 ®&©
@) ©&(@) 4 @&~
99. Which of the follo{Ning stretch is the longest waterway in India?
(1) Sadiya- Dhubri (2) Kottapuram - Kollam
(3) Kakinada - Puducherry (4) Allahabad - Haldia
Bod BODS TES* 2B T EEBF0St wdgod FPEIS Bo ST Srgo?
(1) 288 - & @ (2) §ipRdo - Foro
(3) w8 - WEOWO (4) vofterd - FQoir

TR 3.8



G-2 Booklet Code B

100. Choose the incorrect statement.
(1) The temperature on 3pd anuary 1s shghtly miore than that of 41 July.
(2) The reflected amount of Sun’s radiation from the earth’s surface is called Albedo.
(3) All the weather and climatic changes take place in stratosphere
(4) The Sun is directly overhead at noon on 21% June at 23. 5°N.

Bod TBS* H05 F5°gR) wBoSod.

(1) =28 4 P o) =858 3 &zﬁs@ié‘g"oiﬁo Q8 S YHoenod-

(2) & &H8Ew0 o0& H8DoDOTL TS ngema)el e@a@‘ ©0tT8D.

(3) oQ) TeSden Sodasw 3808 Srdoyen g&° B80S ats Ko,
(4) 23.5°N 5 21 &~ & Jordogdd S&IBS Yoty

000oaa
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